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West Bengal State University
B.A./B.Sc./B.Com ( Honours, Major, General ) Examinations, 2015

PART - II

PHILOSOPHY — HONOURS
~ Paper -1V :
( NEW & OLD SYLLABUS )
Duration : 4 Hours ] . [ Full Marks : 100

~ Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
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"Answer Q. No. 1 and any six questions, taking two from each Group A, B& C.
172 o @3 Rert-w, ¥ @32 o (e ¥ I@ A @I 2w e o e i | :
1. Answer any five questions: S5x2=10

@ @ Afb orae Tew i :

a) What is meant by existential import of a proposition ?

@36 WEI NG (G @00 fF @RIT 2

b) Translate the following sentence into Boolean notation and then express it in
terms of Venn diagram :
Men and only men are rational.

e e 39 Ffvne Ie 3@ oafbran T o4 9
TAE 938 (PTG WE Iagfesroin |

c) Give two logical equivalences of the proposition 'A>B' in terms of
(i) 'e'and '~', (ii) 'v'and '~".
'A>B' -a% BE@ 4 Afes R W W @) .0 8 ~-@¥ TElL
(ii) 'v' 8 '~'-a@q qE1 |

d) What is the negation of a contingent statement form ? Give reason for your
answer.

a3fb e R ey 76 2@ 2 Sewe stoew I )
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What is propositional function ? Give an example of it.

WA I T 2 @od @36 Twrzad e |
f) Is the following statement correct ?

fAsfeiRe Izl & ua 2
~ (3x)~ Mx = ~ (x) Mx

g State the principle of Existential generalisation. .

 fes PR @t SEy I |

h) What is meant by a 'model' of a consistent set of statements in the truth-tree
method ?

TP Aafore Gl H2eifoo]d WNET T [BIY I#T00 F @R 2

i) - Give the form of the method of concomitant variation.

TR-ARIET Srafeq IR @I |
J) What is the Addition theorem of probability ?

TSRO SR @ 1o [ @RIY 2

Group - A
et -
2. a) State the difference between material equivalence and logical equivalence. 3
e Il @ (s TR T SH1eE SE T |
b)  Explain the followiﬁg statement in brief : 3

"A tautology is implied by any statement."
“FS:NS] I (T (I 5 Q11 Afoonfrs 2717 — Trwest Ofe anan w1

c) Determine whether the following statement forms are tautology, self-
contradictory or contingent by means of truth-table : 343
TOPTRAA FRIET A AFNERSE Fogarer, Foshien 71 weifes o ey 32 -

) [p.g)>rl=[p>(g>r]

. #H) . (p.~p)lg.~q)
d) Test the validity of the following argument by truth-table method :
If the weather is cold or the sky is cloudy then either we go shopping or we
go swimming. It is not the case that if we do not go shopping then the sky is
not cloudy. So either the weather is cold or we go swimming. s
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3. a), Construct formal proof of validity of the following arguments ( Do not use
CParlP )4 23

e Ffoelr wemere e eWid W : ( C.P. a1 1.P. IRR[ A W@ A1)
i) (WoM)(IDE)
WoNT =i
(W>~E).(I>~M)/.E=~M
i) (HoP).(SoW)/.(HvS)>(PvW)

iiij Jones will come if she gets the message, provided that she is still
interested. Although she did not come, she is still interested. Therefore,
she did not get the message.

@ I AM S ORE G WPTE, S AW @ REAw evme o W
| e T W ORETe @ REwW ayve OF WIFF WR | TeAR

coTe 43 rEf |
b)  Prove the invalidity of the following arguments by the method of assigning

truth values : 3+3
STORET WIS afen MR Foss [Reafer wtawe! e 3% -
) AniBvOr i)  Ko(L.M)

B=(Cv A) . (LoN)v~K

C=(Av B) O>(Pv~N)

2 A/ sBvC (~PvQ).~Q

(Rv~P)v~M/..K>R

4. a) How can the truth-tree method be used to test sentences for logical
equivalence ? Explain with example. 3

STOPIA ofmfe IR I FOIR qio AR TSl FefF 1 I 2 TARATR o1 |
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b)

4

Use truth-tree method to test the validity of the following arguments : 4 + 4

TP ol el T e Yealm tare o« aw -

i) Ao B s
A—- B

i) We shall fish if it rains and swim if it does not. Therefore we shall fish
or swim.

R 1R 474 I IR =27 W3R I e Fb I O A1 2| oA WA Y

433 Y1 Ao F64 |

Use truth-tree method to determine whether the following propositions are
consistent : : 4

TSI AafS AT IR AN W@ FAesiforyel 1 6 1 -
A->(B&C),(BvC)->D

Explain with an example the method of indirect proof. 3
THIRA SR S@TF o owhe WL FFA|

Prove the following argument by C.P. : 4
C.p. e sz s Yfes tarer e fm

A 31B='C)

Bo(CoD)/..A>(B>D)
Use the method of indirect proof to verify that the following statements are

tautologous : 4+4
HETF AT FTFSF TR IGR IR A @ Fsffe e ot :
i) (A>DB)v(~A>C)
ii) A=[Av(A.B)
Group - B
fetet - 9

6. Test the validity of the following arguments by Venn diagram indicating the mood
and figure of each of them : 3%h

S @ 7T T I e gfeefm tare cerfbran SR Rem 3%

a)

b)

No men are non-mortal. All kings are men. Therefore, some kings are mortal.

COIN S8 T S-SR | 37T M6 X WA | S[SAIS (PN (I TG T TR |

This syllogism is valid, for all invalid syllogisms commit on illicit process and
this argument commits no illicit process.

<% A @y, PR R W A W o W0, Ry % AROCS @ W
eiferan 9B |
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a)

b)

b)
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Where there's smoke there's fire, so there s no fire in the basement, because
there's no smoke there.

AR qF CIATAR A, TSR @EHHTS A (R PR CRIE 4 R |

Symbolise the following sentences by using quantifiers, variables, functions
ete. 3 %2

T, AEARS, TrEe Ronfe IRRR IW Fafie amefne adiwfie a%
i) Not all people who are wealthy are both educated and cultured.
TR 4T IR AR @38 MR s ¢ egfeam J31
( Wx, Ex, Cx)
i) A boy wins if and only if he is lucky.
@3l I ol 2F WM @I @A I GF SR ZW

( Bx, Wx, Lx)
iijj  All except babies are eligible.
fRsa grel 1% caen |
( Bx, Ex)
Construct formal proof of validity for the following arguments : b
feffe el arer SRS e o F%
i) (x)[(Pxv Tx) > Ux]

(x)[(Uxv Ex)> Mx]/ .. (x)(Px > Mx)

i)  Some red flowers are not red. Therefore, grass is green.
(PN (P #E Fo 7 &7 | SR, I @ |

iiij Doctors and lawyers are college graduates. Any altruist is an idealist.
Some doctors are altruists. Therefore, some college graduates are
idealists.

TER R SRR IEE WOF | (@ (PN ORORAM T SRAM | (W W
TIETH 2 SRR | [SAR (I (I NoF T ORI |

Explain with illustration the rule of Existential Instantiation. 6
THRAPIR Ifee (BRIFael @b A F2 |

Determine the invalidity of the following arguments by the method of truth
value assignment : 3 %3

Wwwmtﬁmﬁaw«@ oA T :
i) (x)[(Sxv Tx)>~ (Ux v Vx)]

(3x)(Sx.~ Wx)

(3x)(Tx. ~ Xx)

(x)(~Wx > Xx)/ .. (3x)(Ux. ~ Vx)
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All men are selfish. Ram is selfish. Therefore, Ram is a man.

I T TW FLT | AN Y FL | SR I ZH AT |

If anything is metallic, then it is breakable. There are breakable
ornaments. Therefore, there are metallic ornaments.

T (PN PR 497 (oA 2W OR@ ©f S| ©FF SIRAl W | SRR A9A (A
SRS R |

Group - C
, st - o
9. a) What are the different ways of obtaining a proposition from a propositional
function ? Explain with illustration. 5
QI IBATCHS (A 1 6 T I NS (WO AR ? GBI A I8 |
b)  Distinguish between free variable and bound variable with illustration. 4
& IRT @ T2 AR T AL @ISR el w6 |
c) Find a normal form equivalent of the following : 13 + 13

ey amefie e Rt a6 37 @
i) ~(x)(~ Ox.Px)
ii) ~(3x)[~ (GxVv ~ Fx])]

d) Can a variable be both free and bound in the same formula ? Give reason for
your answer. ! 3

@H formula-(® (IS URF GIFL TR & 8 I7 IO AR & 2 THEI TqFET

e a1

10. Discuss critically Mill's method of difference as a method of discovery and a

method of proof. 15
IRER @32 AR wfs ol e TR 2=l FbR @ T34 |

11. "Cause is used mainly in three senses." — What are the three senses of 'cause’ ?
In which sense has Copi used the word 'cause' ? 12+ 3

‘PRI e foAlb o I I 21T — @B [ Wl F F 2 Copi (FH W IR
UM IRRE IFERCH ?
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12.

13;
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Write short notes on the following : 7%/,+___7_%
Freffrosf Som smfira B fr - /(;o,ﬁ‘%
a) Criteria of evaluating hypothesis /3 /
o Fefma wTwe 2; £s ;
b)  Mill's method of residues. s
Calculate the probability of the following events : 3x5=15
 Rov DR SRl el 7
a)  What is the probability of rolling three dice so that the total number of points
that appear on their top faces is 3, three times in a row ?
e 2@l o1 et oo Sotfrere @1 Reqm casreet sraorr fomm fov (o) zam
AZNTS! F© ?
b)  What is the probability of getting (i) at least one tail and (ii) at most one tail
in 3 tosses of a coin ?
a2l e oM Fowst I () TP QT @R i) AR G BT AT
AR F© ?
c) In a book fair there are five entrances. Four friends come to visit the book

fair. What is the probability of their entering the fair by the same entrance ?
431 AE IR A e e Wy | Gl (FUTS I BIRAGH IG OF% AT e

Q@ 4@eR TSRS IS 2
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